= AH O
N = 0 &8 AF S & Al A
A SN
M B2 2F
SRl BESE TH2 TN (e
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES 0] AFCH @;OH Hns
ey s 469,935 415,918 54,017
= 24,000
Al 76,000
2 369,935
S2EAE 229 357,149 305,430 51,719
= 24,000
Al 76,000
- 257,149
WS T2 =N 157,595 129, 124 28,471
PEE T XA 157,595 129,124 28,471
201 Yer2d| 62,334 61,324 1,010
01 AFE222|H] 5,384 5,124 260
O 2D 92 47,0002 x2CH x 122 1,128
O Xosts MEd L e 22| S
100,000 «12& 1,200
O FANSY 428 7Y 50,000 128 600
O HZE 22= 150,000 «2H 300
O EANRAEH 92 88,000& x12& 1,056
O HA8Y JADHN =22 600,000 *13] 600
O FUAY & 2FHEI 242
500,000& x13] 500
02 E2224H4| 56,950 56,200 750
O &J|etE e &l =22 270,0002 12 3,240
O 22%AE B8E £ RIAEsE
190, 000! 122! *98% 2,235
O &EIIANE HIEE =22 750,000& 750
O &) BH ¥ SXNEE2 275,000 +12& 3,300
O &aUl BI1& 58 =42 800,000 x13] 800
O M=% & 32 2EZAE
150,000 «13| 150
O &2l 1,550 %240 £ *90L x95% 31,806
O Yterd] Al EAHl 1,500,000 *13] «95% 1,425
O HASXIHI 2,470 %5, 259 m %0 . 7x90% 8,184
O X2k ety 1,800, 0002 »1CH*95% 1,710
O ®I| & gE&)| R
200,000& x12& x95% 2,280
O A28l
(450,000 *23| )+(50,000 x13] ) 950
O =AU &Iyl 60,0002 x2H 120
203 YR=XH| 600 600 0
03 AIHFRHRF=ZXY| 600 600 0
O HEst stAXH A=K 600,000 600
307 CIZtOIA 72,161 67,200 4,961
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2H: SN
Y& BBEND 29
ool SNAE AY XX (eel: &
S - H - (SH) - MBAY - BES O & o4 e HREZ
O zelg 500,0002 * 13| 500
O SMHBZ2 SZ ZASY 150,008 %13] 150
203 YREH| 500 500 0
03 AIMFHRETY] 500 500 0
O SHEE g43%W 500,000 500
SAHol g #A 1,600 1,600 0
201 Yereoy| 1,100 1,100 0
03 BAFS I 1,100 1,100 0
O 849 M= 100,000 30} 300
O ZoiE 5000002 * 13l 500
O SHolg S LAY 50,0002 x23 300
203 YREH| 500 500 0
03 AIMFPREY] 500 500 0
O SHolg 8 £ 500,000 500
OFZEIHBHAIRE ©1 48,000 55,800 A7,800
= 24,000
Al 24,000
101 Q1214 45,000 45,708 A708
=2 22,500
Al 22,500
04 JIZH22RSES 45,000 45,708 AT708
O SHBHZAY QAH(BHLLS S Z8)
45,000,000 45,000
=2 22,500
Al 22,500
201 Yereg| 3,000 10,092 AT,002
=2 1,500
Al 1,500
01 AFR22/H| 3,000 4,394 A1,394
O ort2E 29 3,000, 0008 3,000
2 1,500
Al 1,500
REY 29 22,770 15,500 7,270
201 Yereg| 19,270 14,800 4,470
01 AtR22/HI 19,270 14,800 4,470
O g@ds Zeg 2 39,0004 *207H 780
O S8 HEaIs 35024 %20, 00004 7,000
O O{2I0l SHSX RX24Hl 55000823 110
O ORIOISHAX N7
10,0008 6% 128 720
O Hzaey 227Y S 50,0002 43| 200
O e+ 827Y 50,0002 43| 200




M EAR
BM: ZRENB 29
el SHEE A EX CRSE
S 5 5 e
Ao B2 c2(31) - HIRAY - B2 Aol il b o =3
ORIZH=E 15,0003 x 185+ 122 3,240
O &XA=2 15,0003 33+ 122 5,940
O MSSES HE.HE S
15,0008 65+ 123 1,080
405 Xt S| 3,500 700 2,800
01 MR ESF=H 3,500 700 2,800
O 3lJtE Y= ZeHII 3,500,000 «1CH 3,500
SBEHB GROITIZA OIBAIZ AFALY 22,000 0 22,000
Al 22,000
101 1A 17,331 0 17,331
Al 17,331
04 JIZHMIZ2XESE =+ 17,331 0 17,331
O OIRI0IIEA 0IBAIZ AZANY 22T 2
= 17,331
- RY 49,430 x 1H»x26L x12& 15,423
Al 15,423
- 402" RE=S 1,908
s EEE 15,430,000 *4. 5% 695
Al 695
MHEEZ 15,430,000 *3.71% 573
Al 573
NEEEE 15,430,000 *1.3% 201
Al 201
A2EEE 15,430,000& *2.665% 412
Al 412
Lo eAEEZ 412,000 *6.55% 27
Al 27
401 AIEHIZ 20 4,669 0 4,669
Al 4,669
01 A&l 4,669 0 4,669
O K20l HEAS Al 4,669,000 4,669
Al 4,669
AAzss & stueM2 X3 68,320 69,610 A 1,290
Al 30,000
- 38,320
SN P (XHA) 22,140 23,430 A1,290
201 Zer=g&l 2,140 3,430 21,290
01 AtR 22/t 2,140 3,430 A1,290
O NHEH2IBE 2,140
- Z2H0I=Z 154,000& *102F A 1,540
- AJMX E 30& %20, 0000H 600
405 THAHFH S 20,000 20,000 0
02 =AM H 20,000 20,000 0




SH SN
HY: DRCND 29
Sl NEHE ¥ SHDTAHB XS (el @g
SA BB H(BH) - MBAY - B2 O A+ 24 gg;ﬁ; HRs2
O A2 10,000 *2, 0002 20,000
TH PY(BF) 30,000 30,000 0
Al 30,000
405 XA S 30,000 30,000 0
Al 30,000
02 TAHRLUHI 30,000 30,000 0
O TA7Y 10,000 %3, 0002 30,000
Al 30,000
HIEH 7 5,000 5,000 0
405 XtaHE S| 5,000 5,000 0
02 TATHI 5,000 5,000 0
O HX=,D 7 25,0002 *200% 5,000
SDEHD YL RSN N 1,180 11,180 0
201 Y2 Y| 700 700 0
01 AtRZelt] 700 700 0
O BRENZ XY 2| 700,002 %13 700
203 Y=Y 480 480 0
03 AIMZ=RHREZY| 480 480 0
O SRENZ XY =& 480,00024 480
405 X+aHE S| 10,000 10,000 0
02 TATHI 10,000 10,000 0
O SRENZ NBEA 10,0002 *1,0002 10,000
CXE B2 AHIA 21,644 18,676 2,968
HMAFY XSS 19,640 16,672 2,968
201 Yer2g| 19,640 16,672 2,968
01 At 1,980 1,980 0
O ZEE S MAZY 2206 66,0002 +300H 1,980
02 22| 17,660 14,692 2,968
O QIEY SH3H AHB2 550,000 %128 6,600
O fugs 242 6,6002 x 122 80
O eIt |X 24 10,980
- WOIAIAE S/ RXIB4 65,5422 +128 787
- BOIAIAE HW SXI24  36,6672+128 441
- BOAH SX24 192,5002 ¥ 122 2,310
- HEY3A sxEL 165,0002 122 1,980
- GIBRANAE SXES 100, 1002128 1,202
- SATRINAEY SIS (KORASI )
55,0002 x 122 1,860
- EHON SN 200,002 *122 2,400
MUBE S 7Y 2,004 2,004 0




A CA
Hu: ZZCAZ 29
Sol CIXE H2 A2 CEERE
o i = . A -
SN -HH - SA(B) - MRAY - BES 0f Ao Sl e HRE2
201 2Bty 2,004 2,004 0
01 AtE22/Hl 2,004 2,004 0
O gal Z28 A 2,004
- AHE Ha T2 404,800& 12 405
- po® W4l T2 24,9702 *642 1,599
HY2AHH (ZME) 112,786 110,488 2,298
Jl2ZH(=A2) 112,786 106, 306 6,480
J23tl(=A2) 112,786 106, 306 6,480
201 B3| 65,404 63, 106 2,298
01 AtR 22l 12,680 13,976 AN 1,296
O gs+gt| 40,0002 182 122 +85% 7,344
O gas+d 50,000& 16 800
O 2AII=A248 S|
7,002 +18% x341 ¥122 4,536
02 &=l 52,724 49,130 3,594
O HMIIR= 2,900,000& x12& 34,800
O dot=e= 1,100,000& x12& 13,200
O XS ZHAl 30,000& *12] 30
O SAMLLLYS(BA 1,100, 0002 23] 2,200
O BAMLLLYS(HSK) 49,0008 x23] %8
O g2t g3l 48,000& *12l 48
O fIg= etdzel Xt g3/l 36,000& *12] 36
O S2%3 A4l 500, 000& »22] 1,000
- -PN[
17,04521+(12,700& *70. 15m") 908
O sz 403,180&*12] 404
202 O4Hl 43,200 43,200 0
01 =Wl 43,200 43,200 0
O =@ 2U0IHI 20,0008 +102L*182* 122 43,200
203 HRF4Hl 4,182 0 4,182
02 FRIMAHRFAH| 612 0 612
O ZRAIFRZ=ERY| 40,0003 » 18X «85% 612
04 RAN2IHRFAHI 3,570 0 3,570
O BEA2IERF=8H| 350, 000& * 123 x85% 3,570




